a(6 @) (rad)

1

2 3

TP n (PCA to beamline)

a(d cot(B))

1072k

----------------------- EEE RN R R R

Ratio
=3

(T RN B DI 0 | B B R R

83— =1 0 1 2 3

—— DQM_TT__CKF_ORIG

—— DQM_TT__CKFandPLess_ORIG
—— DQM_TT__CKFandPLess_MODIF

aloa, ) (cm)

)

1

2 3

TP n (PCA to beamline)

5 3 i i
o102 [P | IR P T A
g 122_ ............................. O PO
LI RS [ ARREREECEEEE | B 1| EEY EEREFEERREDE
T RONE B SR O A T
-3 -2 -1

0

1

2

3

TP n (PCA- to beamline)

z
T

o(d d.) (cm)

1074

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


